Name 4/%/3 Date
— Angles and Measurement

Use the diagram below for #1-8. Find the measure of each angle.

1. ZMIN 40°
2. «NLP 70°

3. ZNLQ [20°

4. ZoLP ¢4p’

5. ZMLO /80"

Classify each angle as acute, right, obtuse, or straight.

6. ZOLP L.t 7. £0LQ ,(7'/f 8. /MLQ }fnyu{/

Use the figure at the right for #9 and 10.

9. What is another name for ZXYW?
21l or LWYXY

10. What is another name for /WYZ?
L2 or L2YW

11. ZJKL and ZCDE are congruent. If mZJKL = 137, what is m£CDE? /27 *

Use the figure at the right for #12—15 m£FXH = 130 and mZFXG = 49.

12. LFEXG=[L1%T 0 15. LIXV[ LGXF o
LTX] L EX b

13.m/GXH=[ £ ©

14. Name a straight angle in the figure.

LFXlyor LIXF or £ GXT or L TXG

16. If m£RZT =110, m£RZS = 3s, and m£TZS = 8s, what are m.LRZS-an
mLTZS?
3s 4+ 8s = llo mLRZS =30°

lls =10 mLT2S = 50°
5=|0




17. Algebra m£LOZP = 4r + 2, m£LPZQ = 5r — 12, and m£0ZQ = 125. What are
mZOZP and m£LPZQ?

(44 2) ¥ (50-12) =125

b-t0=125 2P o2z
% c /35 meoenEe

r=/5 mLP2Q=65°

18. Reasoning Elsa draws an angle that measures 56. Tristan draws a congruent angle. Tristan says his angle is
obtuse. Is he correct? Why or why not?

MNo. M it 6071/1'00!/ b /{47.: A Le »Léc P 5 é/((/é
reasre. 4 5$6° a ,,j& /s GeA.

19. Lisa makes a cherry pie and an apple pie. She cuts the cherry pie into six equal wedges and she cuts the

apple pie into eight equal wedges. How many degrees greater is the measure of a cherry pie wedge than the
measure of an apple pie wedge?

0 P v
=75

C&/r hyle

20. Reasoning ZJNR and ZRNX are congruent. If the sum of the measures of the two angles is 180, what type

of angle are they?
xt ¥ =150
Zx = /80 ,/2,71/ 4/'/[:/
x=70° A

21. A new pizza place in town cuts their circular pizzas into 12 equal slices. What is the measure of the angle

of each slice? ;é 0
=z °|3°

°



